A #L 5 2 =
THE 4| FR1 5B KTS e T H
TH 5| BRimi kT PR
il bl AL TR
THEIER  L=419. Om
+ T 1=
& AE T A=1,200mt
Gy G
AL FiE| B4 e A (8 - AFL)
BRIMEX LHFICHRIBFLAHEPANLOER K OFEELEICH T 2 EH
8 4 KU
DFEAG, BEFRITK D,
A L BH| ©F 6 £ 8 A 1 H
T # LA NG Sf 6 % 10 H 15 H
T OE AR (BB A BR <) 2,015, 000 |5 RAIAS GHERZFRS) 1,803,000 H
A ¥ == I F % 1 [al B AFL F2lml B AAL 3| B AFL M =
LSRR 2, 000, 000 5FL
(B) IR HHE 2, 005, 000
(€ 9F - REJEES 2,015, 000
Y A& pEE () 2, 007, 000
(BR) > R % 2,010, 000
LIFAA
K ¥ EH KHEsER
fE Arl ERim KT E261
ZREGEERE S T) 2, 200, 000 [




